Expanded notation

The four digit number is
expanded as shown.

What's the value of the
missing number?

o+ [0+ 7 )+[g

The four digit number is
expanded as shown.
What's the value of the
missing number?

6369

6000 +(300]+| ? |+/9]

The four digit number is
expanded as shown.

What's the value of the
missing number?

4000+] 7 +30]+1]

The four digit number is
expanded as shown.

What's the value of the
missing number? 2 7 O 9

2000]+700]+| 0 [+[?]

The four digit number is
expanded as shown.

What's the value of the
missing number? 2 O 9 3

2000/4| 7 |+[ 9 ]+[3]

Name:

Date:

The four digit number is
expanded as shown.

What's the value of the
missing number? 7 7 7 0

7 |+[700)+[70]+[0]

The four digit number is
expanded as shown.
What's the value of the
missing number?

57738

0]+ 100+ 7]+ 1]

The four digit number is
expanded as shown.

What's the value of the
missing number? 2 7 2 1

7 |+[700 ++

The four digit number is
expanded as shown.

What's the value of the
missing number? 1 4 O

1000]+| ? |+[40]+]6]

The four digit number is
expanded as shown.

What's the value of the
missing number? 9 O O 0

9000+ 0 [+[ ? |+]0]
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